Confidentiality Requested: Yes No

## KANSAS CORPORATION COMMISSION **OIL & GAS CONSERVATION DIVISION**

1259096

Form ACO-1 August 2013 Form must be Typed Form must be Signed All blanks must be Filled

## WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #	API No. 15				
Name:	Spot Description:				
Address 1:					
Address 2:	Feet from Dorth / South Line of Section				
City: State: Zip:+	Feet from East / West Line of Section				
Contact Person:	Footages Calculated from Nearest Outside Section Corner:				
Phone: ()					
CONTRACTOR: License #	GPS Location: Lat:, Long:, (e.gxxx. xxxxx)				
Name:	Datum: NAD27 NAD83 WGS84				
Wellsite Geologist:					
Purchaser:	County:				
Designate Type of Completion:	Lease Name: Well #:				
New Well Re-Entry Workover	Field Name:				
	Producing Formation:				
Gas D&A ENHR SIGW	Elevation: Ground: Kelly Bushing:				
OG GSW Temp. Abd.	Total Vertical Depth: Plug Back Total Depth:				
CM (Coal Bed Methane)	Amount of Surface Pipe Set and Cemented at: Feet				
Cathodic Other (Core, Expl., etc.):	Multiple Stage Cementing Collar Used?				
If Workover/Re-entry: Old Well Info as follows:	If yes, show depth set: Feet				
Operator:	If Alternate II completion, cement circulated from:				
Well Name:	feet depth to:w/sx cmt.				
Original Comp. Date: Original Total Depth:					
Deepening Re-perf. Conv. to ENHR Conv. to SWD	Drilling Eluid Management Plan				
Plug Back       Conv. to GSW       Conv. to Producer	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)				
Commingled Permit #:	Chloride content: ppm Fluid volume: bbls				
Dual Completion         Permit #:	Dewatering method used:				
SWD Permit #:	Location of fluid disposal if hauled offsite:				
ENHR     Permit #:					
GSW Permit #:	Operator Name:				
	Lease Name: License #:				
Spud Date or Date Reached TD Completion Date or	Quarter Sec TwpS. R East West				
Recompletion Date Recompletion Date	County: Permit #:				

#### AFFIDAVIT

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

## Submitted Electronically

KCC Office Use ONLY
Confidentiality Requested
Date:
Confidential Release Date:
Wireline Log Received
Geologist Report Received
UIC Distribution
ALT I II III Approved by: Date:

				Page Iwo	096		
Operator Nan	ne:			Lease Name:		_ Well #:	-
Sec	Twp	_S. R	East West	County:			-

**INSTRUCTIONS:** Show important tops of formations penetrated. Detail all cores. Report all final copies of drill stems tests giving interval tested, time tool open and closed, flowing and shut-in pressures, whether shut-in pressure reached static level, hydrostatic pressures, bottom hole temperature, fluid recovery, and flow rates if gas to surface test, along with final chart(s). Attach extra sheet if more space is needed.

Final Radioactivity Log, Final Logs run to obtain Geophysical Data and Final Electric Logs must be emailed to kcc-well-logs@kcc.ks.gov. Digital electronic log files must be submitted in LAS version 2.0 or newer AND an image file (TIFF or PDF).

Drill Stem Tests Taker (Attach Additional		Yes No	L	Log Formation (Top), Depth and Datum Sample				
Samples Sent to Geo		Yes No	Nam	Э		Тор	Datum	
Cores Taken Electric Log Run		Yes No						
List All E. Logs Run:								
		CASING Report all strings set-c			on, etc.			
Purpose of String	Purpose of String Size Hole Drilled		Weight Lbs. / Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives	
		ADDITIONAL	CEMENTING / SQL	EEZE RECORD				
Purpose: Perforate	Depth Top Bottom	Type of Cement	# Sacks Used		Type and Pe	ercent Additives		
Protect Casing								
Plug Off Zone								
Did you perform a hydraulic fracturing treatment on this well?							nd 3)	
Does the volume of the t	otal base fluid of the hyd	ceed 350,000 gallons'	? Yes	No (If No, skip	question 3)			
Was the hydraulic fracture	ring treatment information	n submitted to the chemical o	lisclosure registry?	Yes	No (If No, fill o	out Page Three o	of the ACO-1)	
	PERFORATIO	ON RECORD - Bridge Plug	s Set/Type	Acid Fra	ture Shot Cement	Squeeze Becord	4	

				Each Interval Pe		e		(Amount and Kind	d of Material Used) Depth			
TUBING RECORD:	b: Size: Set At: Packer At:					At:	Liner R		No			
Date of First, Resumed	Producti	on, SWD or ENHF	۹.	Producing Me	ethod:	oing	Gas Lift	Other (Explain)	. <u> </u>			
Estimated Production Per 24 Hours		Oil Bb	ls.	Gas	Mcf	Wate	er	Bbls.	Gas-Oil Ratio	Gravity		
		49							PRODUCTION INT			
			METHOD OF COMPLETION: Open Hole Perf. Dually Comp. Commingled (Submit ACO-5) (Submit ACO-4)		Commingled (Submit ACO-4)							
				Other (Specify)								

Mail to: KCC - Conservation Division, 130 S. Market - Room 2078, Wichita, Kansas 67202

Form	ACO1 - Well Completion
Operator	Griffin, Charles N.
Well Name	Betty 2
Doc ID	1259096

# Tops

Name	Тор	Datum
Lansing	3810	-2243
Stark	4182	-2615
Base KC	4272	-2705
Mississippian	4362	-2795
Kinderhook	4548	-2981
Viola	4660	-3093
Simpson	4762	-3195
Simpson Sand	4774	-3207



Field Ticket Number: MLK1505191525

Sunday, June 21, 2015

Field Ticket Date:

<u>Bill To:</u> Charles Griffin Pratt, Kansas 67124 #N/A	re: ation: ne: nher: e: ber: t Point: fice:	       	D2 Production/L Barber, Kansas Betty # 2 New Well MAVERICK # 1 Medicine Lodge Mid Con	06	9		
PERSONE	L				EQU	JIPMENT	
JAKE HEARD KEVIN BRUNGARDT				NTERS PICK-U AP TRUCK 892-			
JOE HALCOMB		_		_K TRUCK 819-6			
	Concession in the local division in the loca	SERVICES - S	the second s	and the second se	and the second se		And the second
Description	QYIY	UGM	Umit Amt	Gross Amt	Unit Net	Discount	Nut-Amount
PUMP, CASING CEMENT 4001-5000 FT	1.00	min. 4 hr	2,765.75	2765.75	1,438.19	48.0%	1,438.19
CMLP	1.00	per day	275.00	275.00	143.00	48.0%	143.00
PHDL	311.00	per cu. Ft.	2.48	771.28	1.29	48.0%	401.07
DRYG	67.00	ton-mile	2.75	184.25	1.43	48.0%	95.81
MILV	5.00	per mile	4.40	22.00	2.29	48.0%	11.44
MIHV	5.00	per mile	7.70	38.50	4.00	48.0%	20.02
FLOAT		ENT FLOA					
AFFS-5.5	1.00	each	545.00	545.00	283.40	48.0%	283.40
LBP-5.5	1.00	each	660.00	660.00	343.20	48.0%	343.20
CEN-5.5	3.00	each	57.00	171.00	29.64	48.0%	88.92
CB - 5.5	1.00	each	395,00	395.00	205.40	48.0%	205.40
	6//	TERIALS - N					
CW-HVS	12.00	bbl	25.00	300.00	13.00	48.0%	156.00
CB-ASA	200.00	sack	23.50	4,700.00	12.22	48.0%	2,444.00
CLC-KOL	1000.00	pound	0.98	980.00	0.51	48.0%	509.60
CFL-210	57.00	pound	18.90	1,077.30	9.83	48.0%	560.20
CDF-100P	28.00	pound	3.50	98.00	1.82	48.0%	50.96
CB-APA-40604	45.00	sack		0.00	0.00	48.0%	0.00
	I	I	L			Discount	Cia-t
				Services Total	Gross 4.056.78	Discount 1.947.25	<i>Final</i> 2,109.53
			Eq	uipment Total	1,771.00	850.08	920.92
Allow Days				Materials Total	7,155.30	3,434.54	3,720.76
Allied Rep JAKE HEARD Customer Agent: JR GRIFFIN	AL	Final Total	0.00 12,983.08	0.00 6,231.88	0.00 6,751.20		
This output does NOT include taxes. Applicaple st Customer hereby acknowledges receipt of the mate I have real and understand the "GENERAL TER. X Customer Signature	erials and services	described above and	on the attached de				\$6,751.20
inell		GENERAL 1	ERMS AND CO	NDITIONS			

# QUALITY WELL SERVICE, INC. 6352 Federal Tax I.D. # 481187368

## Home Office 324 Simpson St., Pratt, KS 67124

Office 620-727-3410

### Rich's Cell 620-727-3409 Brady's Cell 620-727-6964

Fax 620-67	2-3663				Brady's Cell 620-727-6964					
	Sec.	Twp.	Range		County	State	On Location	Finish		
Date 06-15-15	14	32s	12w	Bar	iber	KS	SOOPM	9:15PM		
Lease Betty	N	/ell No.	2	Locati	on Med. 6	alge K) [ w, 3	kys, Elinto			
Contractor Mavenic	k 10	06			Owner		ifin			
Type Job Sunface					To Quality W	ell Service, Inc.	t cementing equipmer	t and furnish		
Hole Size / 21/4		T.D. 💪	45		cementer ar	nd helper to assist ov	vner or contractor to d	o work as listed.		
Csg. 8 1/8		Depth	265		Charge 6	affin				
Tbg. Size		Depth			Street					
Tool		Depth			City	×	State			
Cement Left in Csg. 20	) <sup>′</sup>	Shoe Jo	oint N/A		The above wa	as done to satisfaction a	and supervision of owner	agent or contractor.		
Meas Line		Displac	e / 51/ BI	315 Fre	Cement Am	ount Ordered	155× Class A	+ 2/syel		
	EQUIPM	MENT			+ 3%00	c + /4 = Flos	serf			
Pumptrk 8 No.	tuid t			/	Common /	75				
Bulktrk / No.	<u>fc</u> [	Dillon			Poz. Mix					
Bulktrk No.	LP				Gel. 3					
Pickup No. Mr	KED				Calcium 6	2				
JOB SE	RVICES	& REMA	RKS		Hulls					
Rat Hole					Salt					
Mouse Hole					Flowseal	43.75		· · · · · · · · · · · · · · · · · · ·		
Centralizers					Kol-Seal					
Baskets					Mud CLR 48	3				
D/V or Port Collar					CFL-117 or	CD110 CAF 38				
Pipe on BHM	Break	- Gin	C. Pump	Space	Sand		MI - 20			
Mix 1755x F	1243	rem	ent. Stan	F	Handling	184				
Disp. N/ Fresh	HZ	Slo	whate, s	itop	Mileage /	0				
Fundat 15%	4 BB	le to	ofd Disp.			FLOAT EQUIP	MENT			
Shutin-	- Cen	rent	DidGir	с.	Guide Shoe					
					Centralizer			-		
				_	Baskets					
					AFU Inserts	9				
				Float Shoe						
					Latch Down					
					LMU	10				
					Servi	ice supervisie	~			
						arge Surface.				
					and a state of the	20				
					. Star		Tax			
							Discount			
X Signature	. 3	tam	1-				Total Charge			